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RESOLUCIÓN DE ECUACIÓNES CUADRÁTICAS MEDIANTE LA FÓRMULA GENERAL 

 
 
 
 
 

Ecuaciones 
−𝑏 ± √△

2𝑎
 Solución(es) 

𝑥2 + 6𝑥 + 8 = 0 
−(      ) ± √(      ) 

2(      )
= 𝑥1 =          𝑥2 = 

𝑥2 − 𝑥 − 2 = 0 
−(      ) ± √(      ) 

2(      )
= 𝑥1 =          𝑥2 = 

2𝑥2 − 5𝑥 − 3 = 0 
−(      ) ± √(      ) 

2(      )
= 𝑥1 =          𝑥2 = 

4𝑥2 + 8𝑥 + 3 = 0 
−(      ) ± √(      ) 

2(      )
= 𝑥1 =          𝑥2 = 

20 − 10𝑥 + 𝑥2 = 0 
−(      ) ± √(      ) 

2(      )
= 𝑥1 =          𝑥2 = 

5𝑥2 = −125 
−(      ) ± √(      ) 

2(      )
= 𝑥1 =          𝑥2 = 

3𝑥2 − 7𝑥 = 0 
−(      ) ± √(      ) 

2(      )
= 𝑥1 =          𝑥2 = 

4𝑥2 − 8𝑥 + 20 = −6 
−(      ) ± √(      ) 

2(      )
= 𝑥1 =          𝑥2 = 

12𝑥2 = −6𝑥 
−(      ) ± √(      ) 

2(      )
= 𝑥1 =          𝑥2 = 

𝑥2 −
8

3
𝑥 = −4 

−(      ) ± √(      ) 

2(      )
= 𝑥1 =          𝑥2 = 

−3𝑥2 − 11 = 0 
−(      ) ± √(      ) 

2(      )
= 𝑥1 =          𝑥2 = 

−5𝑥 + 8𝑥2 = −12 
−(      ) ± √(      ) 

2(      )
= 𝑥1 =          𝑥2 = 

−4𝑥2 − 1 + 𝑥 + 2𝑥2 = 4𝑥 
−(      ) ± √(      ) 

2(      )
= 𝑥1 =          𝑥2 = 

Descargar guías ↓ 

△= 𝑏2 − 4𝑎𝑐 𝑥1 =
−𝑏 − √𝑏2 − 4𝑎𝑐

2𝑎
 

 

𝑥2 =
−𝑏 + √𝑏2 − 4𝑎𝑐

2𝑎
 

 


